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i The scale factor needs to be the same for all edges
2 The angles are always going to be the same

scale dm f by similar Sss
factor side side side

N B

m d
C O ca I

n a

bM

4C KA D
2D 414 similar AAA
4N 413 angle angle angle

similar by SAS side angleside
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PayVERYclose IPQR ITS R
attentiontoorder A

similar

i Arethese similartriangles
yes by AAA

2 Answer thequestion
1.2 II

C 6 C

1 3C 10.8
O 7.3 73

C 8.307
900 I 8.3 m

The totempole is
8 3M tall
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1 Aretheysimilartriangles
yesby AAA

I
HN 515
230 210
210HN 118450
210 210 O

HN 564 05

The lake is 564M long

I Are thetriangles similar
yesby AAA

2 28.1 AI
73.2 98.3

2840.87 73.2dB
73.2 73.2

I 38.80 AB

The river is 38.8M wide


